(X 15 T KEERX
2 &£ 12 A 18 B| |&x&AH|% M 2 & 12 A 18 H
X 1 BEERENBS |[EFrFES#ERERELS
IZEa X X
/

b 514 2 S U b 5
\Eﬁﬁi’s@ =0
) NN

2 i 7 A=A

=
1125000

250 500 m '

N e /|

. . w’/\? U ONE oA L\ A\ NEIAN \-“x\\\:\“ﬁ%‘i@_‘
R S<E - R R &R (E R R 1JHF 1273
(ARG AT D510, B B O R OA&GEE 70
s, )

BRRZNDER [SERMORRE

X & # 5 |I1-6864

X & 0 &% | KE9
REDrrEM [FEERETAERN

i
\\\

A\

/ /

/11 W 2
/ ,’/ / N

e

\\\ =

\

( (((\Uf (!
\ \%%%\@;

ITRHKREERRE

~% \\\\\\ \

——

TR K ERANE A X 1

)
S

&

ORI
\ \ 1
NN

o~

\

B \\\\.\\\\\{\ \
NURRIN \\‘\\&\2\ ]
\ N\

‘\ \.
NNl 7

\ \ \\
\\\\‘ - (
\\\\\\ \ \\\\\\\\\ AR

(@)

COREHIF, ZHEEREICKIHMBRIC, RRICIIXBRZERZLLLOTHY ., —BELSTRADEENHYET,
FHLE EREHRICE RS,




&Bﬁ%a&immwﬁﬁﬁ)

SRE/ERH SHTE128168




Fir

T KREH
JTE128168

Rk
X (%) OF

PN
T

K—ER)

#
E A

)]

(R E)

A

T AREHA - g iR

£ L

AERMOAER

6864

]I_

9

RE

= 3

o

ih
1/25,000)

X (S

: > = = wo)? NN }
=) OB .WV : J

s iE

18

=—raaee

=

P

N\
A /f/ RN

AR

>

AP

A

A FRETNIEEL, )

DERDEK

=]
L

FREES ]

-

ZERITHHEI

a
AR

E(FER)R 1JHF 1273 (ARHL

e = 7K

H D= T Hb g

-

[

3
by
.

=
==8

A

0N

=




THXEFERRIEFHRTER

B 41 _ _ | #E#RE SHTEI12H168

EAES | 11 -6864 I EF A I AE9 | FriEth  [BE LRE,EFHKF'
125 /4

= . <§>
D AE)I a
131.7
O - O //\i\/
} /

BEI-LDN
/

BEIZLD o
RSB R C_ | o
KN/m? m
z !
tmsE | oiassme | | 19| 10
BRI B
ZFDHD X 100.0 1.0
e Y




TRHKEFZERRIEFHREH
B 4-2 _ _ | SE#ERH SHTEI2H16H
BES | 11 6864 I BT I RE9 | FrTEM  [# kEﬁﬁ*F
) T~/ LML‘rﬁﬁjL*‘1_ﬁj %%Q§§§§§§SS§§§§;;;://::///
12%:

E%ﬁ :::: o <‘e>>‘_

L] 1

[] A BRI i€

131.7

O - O /%

o HHICEDN
ERED | o
g . @D =
T KEERRSE C:::] é%ﬁ
KN/m? m
R ImE _ _
TRRE  |BRAEM
4RI 2k X i
ZOMOESE 11.0 2.5

TREDHEICED NN
BEYM O H%E LE DX

s

— 0\

100rn
/ﬂ\h\\\k,I#F“x\‘\\\\\\\\\\\J//I




